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Avbk: hybgl T 6 A
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IN OHBBBdD® 5t 1A
JEHL | BMES [ out | IN ] | | GROss | HDCP NET i
B =8 2 34 40 74 10.8 632 LERAE
2t B 38 34 72 8.4 636 LERAE
3 BB 45 35 80 15.6 644 ERAE
4 L% HB 39 34 73 8.4 64.6
5 [EE E 34 44 78 13.2 648 RUE
6 BEX #BX 41 43 84 19.2 64.8
7 | BB 33 32 65 0.0 650 ARZRS0OE
8 RIF R=H 38 39 77 12.0 65.0
9 ®E & 53 42 95 30.0 65.0
10 BX =& 36 40 76 10.8 652 RUE
11 EBE Hig 50 44 94 28.8 65.2
12 BEA FE 41 40 81 15.6 65.4
13 | HFEX oy 34 34 68 2.4 65.6
14 A A=x: 45 53 98 324 65.6
15 |Hf BFE 37 42 79 13.2 658 RUE
16 BEX & 41 38 79 13.2 65.8
17 FET B 36 36 72 6.0 66.0
18 X% A5 43 35 78 12.0 66.0
19 {RE {EMUER 41 37 78 12.0 66.0
20 ANl =R 39 38 77 10.8 662 FRUE
21 FlL =5 40 43 83 16.8 66.2
22 FH A= 37 39 76 9.6 66.4
23 HBX M 43 39 82 15.6 66.4
24  )\IE B3R 41 M 82 15.6 66.4
25 7 HieX 40 35 75 8.4 66.6 RUE
26 JIE LB 34 41 75 8.4 66.6
27 #EL & 41 40 81 14.4 66.6
28 FHF M 35 39 74 7.2 66.8
29 Lk BE 37 37 74 7.2 66.8
30 & #A 45 4 86 19.2 66.8 RUE
31 7 HE2R 39 34 73 6.0 67.0
32 maE EEB 37 35 72 48 67.2
33 #l BAsA 38 34 72 438 67.2
34 |_H HRE 39 39 78 10.8 67.2
35 JIA 40 43 83 15.6 67.4 RUE
36 HM ZF 39 37 76 8.4 67.6
37 FHE FHE 37 39 76 8.4 67.6
38 HH Eih 37 39 76 8.4 67.6
39 Ef & 45 37 82 14.4 67.6
40 EEFH I 42 46 88 20.4 67.6 FRUE
M BER —k 39 36 75 7.2 67.8
42 thE HEE 33 35 68 0.0 68.0
43 E EH 34 34 68 0.0 68.0
44 X BB 38 36 74 6.0 68.0
45 K/t BE 38 36 74 6.0 680 RUE
46 EH Z2¥ 40 40 80 12.0 68.0
47 &R Bz 40 40 80 12.0 68.0
48 = BA 41 39 80 12.0 68.0
49 ®EH BE 40 40 80 12.0 68.0
50 F&F iE— 43 37 80 12.0 68.0 RUE
51  NE =R 41 45 86 18.0 68.0
52 &f —HR 47 45 92 24.0 68.0
53  fhlE ffi— 46 46 92 24.0 68.0
54 JIIB Bhz 40 45 85 16.8 68.2
5, HEe B 47 50 97 28.8 682 FRUE
56 K& XK= 45 52 97 28.8 68.2
57 &4t Bl 32 34 66 +2.4 68.4
58 BHxt BsE 41 37 78 9.6 68.4
59 TH BE— 39 45 84 15.6 68.4
60  fHET —E&R 43 41 84 15.6 68.4 FRUE
61 &3 5hE 50 40 90 21.6 68.4
62 I F 46 44 90 21.6 68.4
63 LtH 1@ 42 4 83 14.4 68.6
64 SW TEF 43 45 88 19.2 68.8

1/2R=




65 JIIE FkE 37 38 75 6.0 690 RUE
66 AR BASE 44 37 81 12.0 69.0

67 LA &F 40 47 87 18.0 69.0

68  fH I 41 38 79 9.6 69.4

69 b IETY 37 42 79 9.6 69.4

70 KB &R 47 44 91 21.6 69.4 RUE
7 BERF 48 43 91 21.6 69.4

72 FWh —H 39 39 78 8.4 69.6

73 |&H@A 18 37 4 78 8.4 69.6

74 |HY EfE 40 38 78 8.4 69.6

75 |EH EX 40 44 84 14.4 696 RUE
76 EilF ER 42 40 82 12.0 70.0

77 |#HE EfE 51 49 100 30.0 70.0

78 thEA AR 47 46 93 22.8 70.2

79 AW 46 47 93 22.8 70.2

80 JIlg & 49 50 99 28.8 702  FRUE
81 WK =E 50 48 98 27.6 70.4

82 it BIX 43 42 85 14.4 70.6

83 & EFA 44 53 97 26.4 70.6

84 T #5hA 39 39 78 7.2 70.8

85 & E 38 46 84 13.2 708 FRUE
86 dtft B 41 42 83 12.0 71.0

87 BX Xif 49 40 89 18.0 71.0

88 #iK X 52 43 95 240 71.0

89 A = 53 47 100 28.8 71.2

90 RE #BE 42 39 81 9.6 714 RUE
91 fEiE EEF 52 47 99 27.6 71.4

92 7 H#F 55 50 105 33.6 71.4

93 BhO f@&a 45 41 86 14.4 71.6

94 KT ®HE 42 43 85 13.2 71.8

95 7 AR 43 42 85 13.2 718 RUE
96 it B 41 43 84 12.0 72.0

97 RE BR= 40 43 83 10.8 72.2

98 Ki¥ IEf# 46 43 89 16.8 72.2

99 FfRHE # 48 47 95 22.8 72.2

100 A 2% 57 44 101 28.8 722 RUE
101 H#B EHH 41 40 81 8.4 72.6

102 BHH EA 43 43 86 13.2 72.8

103 H&B #BA 47 44 91 18.0 73.0

104 Hmh %= 39 45 84 10.8 73.2

105 A/K FERR 49 40 89 15.6 734 | RUE
106 Ht H+E 47 45 92 18.0 74.0

107 |h#f X 46 46 92 16.8 75.2

108 AR & 41 44 85 9.6 75.4

109 BEAX BB 49 46 95 19.2 75.8

110  #E == 47 46 93 16.8 762 J—F—%&
111 | R¥ EB 47 53 100 22.8 77.2
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